Around the World in 80 Days

Answers

Question

Answer

Challenge Cards

1

480,000 calories (multiplication)

1045.2 miles (addition)

28 days (division)

688.7 miles (subtraction)

20 boiled eggs (division and multiplication)

3/8 of the total (fractions)

260 chocolate bars (division)

17% hours less sleep (subtraction and multiplication involving decimals
or fractions)

6 days (division)

10

1680 miles (multiplication)

11

185.1 calories (subtraction involving decimals)

12

133 miles (calculating percentage)
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